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[{
x: 'Oceania’,
low: 1,
ql: 9,
median: 16,
q3: 22,
high: 24
FoA
x: 'East Europe',
low: 1,
ql: 5,
median: 8,
q3: 12,
high: 16
}Ao
x: 'Australia’,
low: 1,
ql: 8,
median: 12,

g3: 19,
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high: 26
hA
x: 'South America’,
low: 2,
ql: 8,
median: 12,
q3: 21,
high: 28
hA
x: 'North Africa’,
low: 1,
ql: 8,
median: 14,
q3: 18,
high: 24
hA
x: 'North America’,
low: 3,
gl: 10,
median: 17,
q3: 28,
high: 30
}Ao
X: 'West Europe’,
low: 1,
ql: 7,
median: 10,
q3: 17,
high: 22
} Ao
x: 'West Africa’,
low: 1,
ql: 6,
median: 8,
q3: 13,
high: 16
3
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function callback(obj) {
obj.range = [obj.low, obj.ql, obj.median, obj.q3,
obj.highl;
return obj;}
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